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Rally Coach

Partner A solves the first problem verbally

Partner B watches, listens, checks and coaches if necessary praises – when answer is agreed A writes it down

Partner B solves the next problem verbally

Partner A watches, listens, checks and coaches if necessary praises – when answer is agreed B writes it down

Repeat the process until all tasks are complete
Today we will be using the 4Bs for this exercise
1. What three different types or strands of Conservatism are there?
2. Give 4 ideas or principles which underpin Thatcherite or New Right political thinking?

3. What are the differences between revolutionary and democratic socialism?

4. Give 3 examples of policies or laws introduced by the Labour Party which could be said to be democratic socialist in origin

5. How socialist in the current Labour Party? Support your answer

6. Which strand of Conservatism do you think David Cameron and his government represent? Support your answer

